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Answer thie Questions from any one Option.

OPTION-A
Paper : PHY-SE-3014
-.( Physics Workshop’ Skills )
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Paper : PHY-SE-3024
( Computatzonal Physics Skills)
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Paper : PHY-SE-3044 }
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Jull marks for the questions.
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~ OPTION-A
Paper : PHY-SE-3014
(Physics Workshop Skills)

Answer either in English or in Assamese

1. Answer the following objective-type
questions : {any four) 1x4=4

o SRR TEY e Al 3 (R oI

- (@) What is the difference between: basic/.

. fundamental and derived unit ?
2l W 7T G e ANy e
'. (b) Write down the S.I. unit of temperature

Wﬁ%wﬁawﬁtﬁwn

() What is the least count of a common '

meter scale ?
et RO F qorFR aﬁ% e e e

(d) What do you mean by p1tch of a screw
gauge ?

| .gﬂ@?aﬁafsﬁﬁiﬁiﬁﬁwﬁ?

»(e) Mild steel is a primary alloy of |
and . - (Fill in the blanks)

'fm@*n i T A A
- (ATt 912 7t 7)

" 08em-3/CBCS) PHY SE/0. 2

'(g)

(0

In which work a file’ is used in a -
mechamcal workshop ?

AR TR oIS et ﬁﬁ TS w =
2q°?

Power generation system in an
automobile converts _ into work.

._ (Fill in the blank)
w%"aaﬁw *1%? Tesive s

I TR A (#fﬁ?ﬁeﬁqw)

What is.the ‘colour code’ of a
resistance ?

.@t@ﬁ%ﬁwzm’mﬁsw?

Answer the following ciuestions in very short:
(any three) 2x3=6

WWW%_{WB@%W (Rt fofsy)

(@)

In a slide caliper twenty (20) divisions
of the Vernier scale coincide with the

“ninteen (19) divisions of the main scale.

If one smallest division of main scale

- equals to one mm (1mm), find out the

Vernier constant of the instrument.
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am%féxﬁzts (@RoIR CIRTIT (e 2001 Ol
T4 (GIRT) CFTT 5B ol a0 | <01 e (T

. % R IN ;M 1mm W, (OGS (FEQEN

(b)

. OiffaIR 439 WA Sfeneat |

If Skm/h=xcm/s2?, find the.va_lue of

S

]

3fi 5km/h=x cm/s2, x3 W Sferel|

- Why. is safety measure in a mechanical

' -+ workshop important ?

(@

4.meﬁﬁwmwﬁmaﬂrw .
CCRR T AR N fra |

Write down two important functions of

.('e)

WW@WWWW
sgsf ¢

What is sheet metal ? Wr1te down two

metals used in sheet metal work

lubricating oil in machine operation-

@ B vadee TR e REER O

| USRS AN |t 75y dRG B

What is multimeter ? Write down the
difference between digital multimeter
and analog multimeter.,

- 3(Sem-3/CBCS) PHY SE/G 4 |

3. Answer any two qliestions from Athé
following : S5x2=10

were fral ﬁmmzwmwm

~(a) Write down five common matenals used
in manufacturing/mechanical workshop.

mwwm%ﬁmmqmm
ety

(b) Write down step. by step process to
' “measure volume of a solid block (say
cube) using a Vernier calliper.
SRR PR o e IR Collbr 3 ()
<Bi SISy SAGIR sEfooe elier Bl

(c) () What do you mean by soldering
~ and desoldering in an electromc -

circuit ? 3
TG I8! IBIe wﬁw %
gieigye # W & g@ite

() Write down at least one content of
soldering wire used during

soldering process. = 1
IR T SRS I @R RedEr
BT arg? AW forar 4

(i) What is the full form of P.C.B. in
electrical circuit ? ‘ 1
76 Fafire R T PR R soud
ot e

3(Sem-3/CBCS)PHYSE/G 5 Contd.



'(d) () Write down the difference between | v Bae @t W‘T. @A T SOt
: iﬁfyed and unregulated powe S bR e @Bl ARt Reww ke (AC
' . | | signal) @B1 eM® xRl (i) ALTART,
RefEs S Siage Ry eI e o (i) IR, (i) TR, (i) T ofal e
» QI@T:"NW Gl - 1 - ", W% (v) r.m.s. Rew [efy =11
(i) Draw the block diagram of a N ; () () Whatis the utility of a gear system
~ regulated power supply. 3 - " in automobile car ? 2
Pl Rge SRR IRT ;M@ @ - |~ oA MG qiTe Himy Redww
Qeloas TS o/ =W . TR R e | |
) ' : ) (i) Discuss two different types of
| . braking system used in an
' automobile vehicle. .2
5 o S SRIZ A @9ve R @] 75
0 N QS @ @R @R ey [Ram
- A i ,
‘(i) What is pulley ? 1
o e
2uS/div
Fig. 1 .
4. Answer any three questions from the
: - ” - following : ) - 10%3=30
Display of a cathod ray oscilloscope - : -
: (CR%) ZCreen for the measurement ofa | oo famt SPPTRT ~Il ﬁmtﬂf s %@ G
signal is shown as above (Fig. 1) Find _ (@) () What is a sextant ? Describe its
(i) Time period, (i) Frequency, (m)l tPeak | working principle. 5
. € : .
voltage, (iv) Peak-tO—Peak. voltage, S IR
and- (v) r.m.s. value of the signal. S S fee 2 S I =01
3(S¢m;3/CB(£S) PHY SE/G 6 3 (Sem-3/CBCS)PHYSE/G 7 - Contd.
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3 (Sem-

(u) How can one calculate the helght
of a building using sextant ? 5

mwmmﬁw@m
9 ST «Aif{ e

important ? .
il et R Gt

(i) -Write down short notes on each of

the following processes in

- mechanical workshop : 6 .

(@) Casting

(b) Machining .

(€) Forming

A T B i it oo
W Recw s o ¢

(b) cfofae

(©) wafig

(lll) Write down - three pnme maChme :

tools wused
workshop.

Fﬁ"f’{"“"@ﬁ?mﬁml :

in mechanlCa3

3/CBCS) PHY SE/G 8

Why is workshop- technology

(c)

@

3 (Sem-3/CBCS)PHYSE/G 9

(i) What is the basic difference
between soldermg, welding and

brazmg ? 3
SO, e@ﬁn%\ 153 @ﬁﬁ'{-a AT ‘7{1@
=2

(ii) Discuss five different types of
* joints observed in welding process.
' .5
A55 QT R SRR AR a

i | | ‘
(iii) . What do you understand by’
- welding defects ?. 2

e R et e e,

Draw the symbols of the foilowing discrete
electronic/electrical components :

(i) Diode |

(i) Zener diode

(iij) Light emiting diode - -

(iv) Single electronic cell
(v) Battary '
(vi) Inductor

(vii) Capacitor

(viii) Variable resistor

Contd.




(ix) PNP transistor

'~ {x) NPN transistor

TWW/WWW
oz forats

() TS
(i) (TR TG
(i) (AT Pl orre

(v R R

) R

(vi) ST

(vi)) 4=

(viii) ARSI @ige
() PNP (Gaf&es
() * NPN GAes

() What is cathod ray osc1IIOSC°Pe '1,

T T Adercis fe

() What is basic difference between

multimeter and oscilloscope ? 2

T5Rla <t e et cmet O TS
T oy e

| 3 (Sem~3/CBCS) Py SE/G 10

(9)

(iii) With the help of block diagram
explain different components’ of a
‘cathod ray oscilloscope (CRO). 7

. Qefiem e @b (T ﬁ@f‘a—cﬁwf»ﬁ
- ﬁ@ﬂ SRR acﬁr =11

(i) What is the nnportance of switches
in an electronic circuit ? 2

Wﬁaﬁrwﬁmﬁ%ﬁ?
AT e

.(iij Draw and explain transistor based

electronic switch. 8
(G TR ! LRGP pR6O GBI
B il @i Tt 4 | :

(i) Draw the circuit'diagram of a timer - .
' circuit (Astable multivibrator)
using ICS555. . 5

2 555 T3 IR ZgR o TN
(RUSEE NFTOIREDT) <ot W T |

(ii). What is the duty cycle of an
astable multivibrator ? 2

aﬂﬁ@ﬁﬂﬁ‘ﬁ@ﬁaaﬁamsﬁ@m
ﬁw

3 (Sem-3/CBCS) PHY SE/G 11 ' Contd.



(i} In an astable multivibrator by

using IC555 the duty cycle
determining resistor and capacitor

are given by R4 = 1kQ (resistance

between IC. Pin Nos. 7 and 4)

" "Rp=10kQ {(resistance between 7

) @

i)

and 2) and capacitor C=0.1uF
(capacitor between IC Pin Nos. 2
and 1). Calculate the output
frequency of the multivibrator. 3

IC555 IRRT IR I ARTEIA
@I4E Ry = 1m(wﬁf€ﬂw\7m4
I ES), Ry = 10kQ W% (SZH [ 7

S 2 3 FES) AR 4RI A C = 0. 1uF -
(=2 ot 2 =% 1 3 Wiwre) fat =R

MFTHFOIR FoIT [l 41 |

What is the use of a galvanomefer

in an electrical circuit ? 1

IEREAE I8N GBI (TSN <Ol
R e

How is a galvanometer converted

to a voltmeter and an ammeter ?
| 4

TSR @5, Bl SOOI S Bt
<fSior Tt @maﬁmwwﬁ?

3 (Sem-3/CBCS) PHY SE/G 12

" (iii)

(iv)

Explaln W1th dlagram how a
voltmeter and an ammeter is
connected across a resistance to
measure voltage drop and current
passing through the resistor. 4

4B T WS RS A S /IR
g @bl THRER % «fiEE @Bt
R TN T T 0

What is S.I. unit of current ? -
1

2] S.I. 3% e

3 (Sem-3/CBCS) PHY SE/G 13 . Contd,



1.

Y

" OPTION -
. PHY-SE-3024  °
( Computational Physics Skills)

Paper

Answer any four from the followmg
1x4=4

(@) What are the three different types. of
Linux ?

(b) Write the Linux code to save a file.

(0 What does a character set mean ?

(d) Define a ﬂewchart.

() What is the dlfference between a/b and
- a%b ? 4

(/ What is a compiler ? |

(g) Write the increment and deécrement

operators.

(h) How w111 you write X2 in GNUPLOT ?

Answer any three from the followmg
2x3=6

(a) Write two characteristics of high level
~ language (HLL). : :

(b) What are the two factors that determine
the efficiency of an algorithm ?

© 3(8em-3/CBCS) PHY SE/G 14

-

»

3.

3 (Sem-3/CBCS) PHY SE/G 15

(c) ‘What are the three types of selection
statements ? . , )

(d) Write any two advantages of breaking
a program into a subroutine. -

(e) Draw a flowchart to find the -area of a
circle.

() Give the command to plot 2-D functlons
) -and data in GNUPLOT. S

Answer any two from the following :
5x2=10

(@) Write a note on various LINUX text
editors.

(b) Write a note on variables and data
types. ’ |

(c) Write an algorithm to convert Cartesian
- co-ordinates to spherical polar co-
vordlnates

" (d) Describe the common types of boxes in

a flowchart. -

() What is an array in programming and
what are its characteristics ?

() Explain GNUPLOT
scripting.

suitable fbr
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4. Answer dny three from the following:

10x3=30

‘(@) What are the functions of an operating

(b)

- ©

(@

(e)

9

(h)

[1 3'(Seln‘f3/v(_:BCS) PHY SE/G 16
|

"arrays with linked lists.
Write in detail about thé layout and -

. System_? What are different types of
‘operating system. Describe any one of
them.

| 5+3+2=10
Write the algorithm and draw a

- flowchart to find the roots of a quadratic

equation. 5+5=10

-Write an algorithm and draw a -

flowchart to plot trajectory of a
projectile thrown  at an
angle with the horizontal.

Explain with example what do you
mean by the terms, ‘Dimension’ and
Subscript’ in arrays. Also compare
5+5=10

format of writing a program.

What are executable and non-

executable statements ? Explain with

- example what initialization and
- replacement logic are.

4+6=10

What is Disk I/0O ? How to monitor its

utilization for Windows and Linux ?

4+6=10

Explain about GNUPLOT functionality.

5+5=10 .

. (A)

Y-’

(%]

3 (Sem-3/CBCS) PHY SE/G 17

OPTION-C
Paper :- PHY—S_E—30_44 .

~ (Digital Photography and. Editing )

1. Choose the correct answer of the following
questions :

(any four) 1x4=4

If you are shooting a photo and want
to go a greater depth of field in the -
image, you would shoot at

(@ F2.8

(b) F 16

(9 F7.1

(@) F4

‘When shooting in manual mode ‘which

of the following controls the exposure

of your computer ?

. (@) Aperture .

(b) Shutter speed

(c) 1SO i _

(d) All of the above '

Basic element of video editing is
(a) capture

(b) shot

(c) timeline

(d) All of the above

Contd.



(D)

®)

o)

(G)

(H)

Digital editing is known as
(@) linear editing

(b) non-linear editing

(c) tape-to-tape editing
(d) None of the above

A tripod is an essential piece of
equipment for right photography.

(@) True '

(b) * False

Which artist is usuajly identified as one
of the inventors of photography ?

(@) Nicéphore Niépce

(b) Ansel Adams

{(c) John Herschel

(d) Thomas Eakins

Resolution of an image describes.
(@) the quality of the image

(b) the clarity of an image

(c) the size of the image in pixels

(d) colour and contrast of the image

In which stage do you edit video ?

(@) Pre-production

(b) Production

(¢) Post-production

(d) None of the above

~ 3(Sem-3/CBCS)PHY SE/G 18

2. Answer the following questions :

(any three) S 2x3=6
(@) Why is exposure important in
photography ? :
(b) What is white balance in photography ? .
() What are the types of exposure in
. photography ? ' .
(d) How does shutter work, when shooting
videos ?
() How does a camera tripod work ?
(f Why is manual focus important in

photography ?

3. Answer the following questions : (any two)

, 5x2=10
(a) Explain about digital camera. Which is
the best digital camera ? '
(b) Describe different types of light sources.
(c). How does white balance affect an
image ? .
(d) - How does digital video work ?
(e) Write one disadvantage of using digitai
' zoom. How does digital zoom work on
, a camera ? E
( What is white balance ? Explain.

3 (Sem-3/CBCS) PHY SE/G 19 | " Contd.



4. Answer any three of the following
\ quest10ns “ 10x3=30

‘(@) Write short notes on :
(i) Digital camera
(i) DSLR

- (b) Describe various parts of digital
videography.

" (¢) - Describe the control and features of
video camera :

(d) Explam change couple dewce
(e Write the dlfference between lens and
iris.’ |
() Explain digital noise.

(g9 Explain the function of shutter in digital
v1deo camera. :

(h) Describe different methods for
abnormal event detection in video.

3 (Sem-3/CBCS) PHY SE/G 20

OPTION-D
Paper : PHY-SE-3064
(Weather Forcasting )

Answer either in Engllsh or in Assamese

1. Select the correct answer : (any four) )
1><4 4 -
i @“@3@[ IR Sfeeat ¢ (ﬁmﬂf wﬁz‘?f) |
(a) Standard: atmospheric pressure is called
1 atmosphere of pressure. It is equal to
 76cm of Hg and it is equal to
oI NS B 1 W@ﬁﬁam QI |
«ﬂi‘mﬂ 76 @ﬁ;ﬁﬁaﬂﬁwwmma
H _ |
() 101.3 kPa (Rt licee)
(@) 10.13 kPa (Rt A=)
(i) 1.013 kPa (R slicwe)
(iv) 1013 kPa (R AACET)
(b) Ocean surface cover per cent of
the globe.
TR 4RI e wRR e
) S0 ' '
(i) 71
3 (Sem-3/CBCS) PHY SE/G 21 Contd.



(i) 60
(iv) 80

. (¢) Dry air, by volume, is more than 99 per
cent composed of

| e Rplefe, S 1Y, 99 ORI @Y
S & O ) |
i) Nitrogén' and Oxygen

(RIS @I SH3ie)
(i) Nitrogen and Hydrogen
(ARG S FRGTE)
(i) Oxygen and Carbon dioxide
(IR IR B SiReTmiR)

i ' (iv) Hydrogén and Oxygen

| (xR o )

\‘ (d) One example of greenhouse ‘gés is
CRER (1T B! Tt g1 |
T2 |
i) co,

- (iii) He
(W) O

3 {Sem~3/CBCS) PHY SE/G 22

(e) Wind direction is éetermined bjr
%am@w%ﬁcﬁlwiﬂh
\ (i) anemémetér '(uﬂm) '
(i) hygrometer (2ARR)
fii) wind vane (%3S (&) :
(iv) thermometer (UGARGR)

() Fifty per cent of the total mass of
atmosphere is confined in _ from
. earth sufface. '

AN TP T A% MO S CZ
@) 1.5 km (RefoR)

@) 2 km (ReeGHR)

(i) 4 fm (Reefio®)

(iv) 5 km (RTAIFRGR)

2. Answer dny three questions : . 2x3=6
(a) What are the differences between
tornadoes and hurricanes ? ~

BRET 9% IR Noe Ndy &F [Fe

3 (Sem-3/CBCS) PHY SE/G 23 " Contd.



(b) How env1ronmenta1 issues are related
to climate ? »

Wﬁwﬁm
e mam—@sm

(c) How is relative humidity calculated ?
A el ﬁsm =
. (d):-i What is Raylelgh scatterlng ?
(e vz e
(e) What is hyetograph '>
A e

Nij] "How are wi
ind speed and
easured d1rect10n

WE%WW@WW.;,{W@?

3. Answer any two questlons : ~ 5x2=10

ﬁmmzﬁrw%@aﬁm

(a). How -variation of rainfal] amount and
intensity depend on wind direction ?

oA T @oi® T AR W Srqor
T ST TR

(b)) What type of 1nformat10n are essenual
to forecast flood and erosion ?

3 (Sem~3/CBCS) PHY SE/G 24

()

(d)

wﬁmm@ﬁww&w
CUR SfSLAGH? - .

What are the factors that affect wind’
motion ? Briefly explain them. ‘
oI oIfST 89S AT (AT PR
50 CIRER SF 390 F |

“Modern weather forecasting d1d not
become . possible untill weather
information could be collected,
assembled and processed rapldly
Explain it.

“oyfar 393 IR FWI @[ ﬂﬂ"ﬁ
@feuitare Roy o Mz, ok %

ot Rosret s AT 1 F1 TR0 30|

(e)

What are the most important.
parameters to forecast weather ? Briefly
discuss about them.

] AR AR ABIRSE @f'?iam@ﬁu
Wﬁ?m«ﬁmmWW|

Discuss about General C1rculat10n

- Model (GCM).
- YR qwﬁwamf%(ccmaﬁmwmw :

|

3 (Sem-3/CBCS) PHY SE/G 25 Contd.



‘4. Answer any three questions

(@ What is précipitation ? Déséribe forrr;S

(b)

(o)

(@)

of precipitation. Mention precipitation
characteristics. . -
SETTH 152 R eroia wrsrmsi 31 o
ST RS T

Discuss about short and medium range
forecast of weather. .

A IR G AR Tovw SimRT R R
oA w9 ~

..D.i'sc.uss. solar radiation energy
distributiori mechanism in atmosphere.

TERSTS T Rt =fes Reewet st srizanmoet |

ol

Weather and climafe are different.
How ? What is climate change ?

&2

Give detailed explanation aboyt
absorption,_emission and Scattering of
radjation in atmosphere.

Wﬁ?ﬁﬁﬁ%%ﬂﬁmﬁ%ﬁ"ﬁ?{m

10x3=30

T % GO R | (REATRD  Srorag S1RA

() Write‘a short essay on global warming

(9)

)

and its outcome.

e Taeet 3% o e Rac g ot
What are different layers of

atmosphere ? Discuss . the
characteristics of these layers.

Sy STETAl 9 | -
Cloud is the main source of rain. Whgt
are different types of cloud ? Explam
one by one. '
TR T T ¥ (9| Rfew oo oW &
e 4Bt wolts IO 41 ‘

Rogmem R R gt oy
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' OPTION -E .
Paper PHY-SE—3074
o .( Applied Optics)
An;wer gither in English or in As#dmese.

1.

@ﬁ %t‘m%r AR St : Rz sif3sn)
() Write the full form of LASER
- LASER *Rfiofa W»ff HACHT forit|
: (ii) Define refractlvc index.
- Rl el
(iii) Define -critical angle.
O (Rl et fwa
(iv) What is stimulated absorption ?
azcmﬁw O PR T 2
.(v) What is attenuation in fibre optics ?
. SIEAITGS SR TP QT2 |

(vi) Why is LASER used in reconstruction
process in hologram ?

ﬁ‘a?ﬁtm?

3 (Sem-3 /CBCS) PHY SE/G 28

Answer any Jour of the following qurestions :
1x4=4

(vi)) What is metastable state ? -

o o e
(viii) In which principle holography is based ?
gerares fofermel M 2 R
Answer any three of the. followmg
questions: . 2x3=6
oo’ Rz fofst e Tes faat

(i) 'Why is total iriternal reflection used as

a pr1n01ple in optical fibre ?
| WW%&W@W
fepitst. R s =1 |2

(i) What are step mdex and graded mdex
fibre ?

(3 W Wi cmmwm GICe 2

(i) Why is spontaneous emission not
suitable for LASER action ?

mWwWﬁeﬁaﬁm«wﬂq@
CEUE: 4

(iv) A sodium atom radiates for 4x10-12 sec.
What is the coherence length of light
from a sodium lamp ?

© 3(Sem-3/CBCS)PHY SE/G 29 Contd.



-

<5 SR s 4x 1012 (rpe A
- Rt Fefe w31, @5t sR=w S (21 ESE
w\%mﬁmx?

(p} Write' one advantage and one
disadvangtage of semiconductor LASER.

} waﬂﬁm%@i@m‘ﬂﬁhﬁwm aﬁrwqﬁm
CvmR s

' (vz) What is fibre Bragg grating ? |

TR @t (S I @

Answer any two of the following questions :
. - S5x2= 10
wR R E?/ epie Tey a3
) What are various requirements for
holography ?
;‘fﬂé 2P AT RS AN o= 1) @w
?

- () Write in detail about the disadvantages

of optical fibre.

.;t:"amm«‘ﬂﬁﬁm@mﬁmw
' |

(i) Define stimulated emission. Whylis it
necessary for LASER action ?

v

(ERT ePRare arelire Rid=es wicent frant 1
(iv) Define population inversion. Discuss
various requlrements for populatlon
inversion. .
(G AMSS SRl ﬁﬂw s fim |
s Refms IR & & vﬁqﬁam
CR Reca st 4 1. S

(v) Write a short note on He-Ne LASER.

© BT EEe RIw s F161

(vi) Calculate the refractive index of core
-and cladding materials of an optical
fibre, if its N.A. is 0.22 and refractive
index difference is 0.012. :

tﬂﬁWﬂT\ﬁWfiﬁaﬂ?W022W

Y o ofowmiTR sty 0.012 =@,
 OQGIR I I @FE JFRIF

ﬁﬁ?ﬁ‘ﬂ%ﬁ T o WI
Answer any three of the following
questions : 10x3=30
fReeran fofaor e Tex forat 3

(i) Write a descriptive note on holography.
What are the applications of holography
in modern world ? 7+3=10.
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(vi) What are various usagé of optical fibre
in different fields ? With the help of a
block diagram explain thie working of a

ﬁtﬁaaﬁaﬁeﬂﬁf oIt vt | wiefs e

| R e Re- fibre optic Commumcatlon system.
(@ What is coherence ? D1scuss in detail | 4+6=10
- about the two tYP(’—'S of coherence. . R ﬁﬁ o CRaS W W = ﬁs?
2+4+4=10 | . @l ﬂWﬂWWWWw
-Wﬂ%m@m? vaﬂ%ﬁamw o | © BerIIRL - |
al s o (vij) 'What are dlfferent types of l'lllologram;
. (iii) What are Einstein co- efflc1ents in . Write a short note on app C"Z +06n"10
LASER ? Derive relations between them.’ '_ SRR holography in mlcroscfopy g » ;.
3+7 10 L] - : fﬁ’inﬂ? eRER & e W%q’ IO
@w«mﬁswmw\wﬁs%v@ | L TR e T < oy R
QIR AerS TF Goiw FA| N ~_ (viii) Write briefly on the principle and

construction of optlcal fibre. What is

(iv) Give a brief description about three level cladding ? What is its purpose ?

and four level scheme for LASER 2+3+2+3=10
production. 5+5=10

| e o | . WWWWWWMl ;
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(v) Derive an expressmn for numerical
aperature of a fibre. Discuss various
usage of optical fibre sensor. 6+4=10
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OPTION - F
" Paper : PHY-SE-3094
(PageMaker )

1. Answer any four of the following questions:

" (@) Which menu contains the ‘Rounded ,

®)
@

@)
(e)

1]

(9)

(h)

1x4=4

Corner’ option ?

How many columns are there in the

newspaper ?

What is the extension of file created in
- PageMaker 7.0 ?

What is leading’?

What is the first step of the page layout
for desktop publishing ? :

Which menu contains the ‘Document
Setup’ option ?

In Wthh menu ‘insert page’ option is

located ?

What tool is used to move graphics in
PageMaker ?

2. Answer any three of the following questions :

2x3=6

(@) How can you insert and remove pages ?
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(b)  Define ‘Layout’ menu in PageMaker
| (c) 'What is master page ?
(d). Define allgnment in PageMa-ker.
(e) What are Fill’ ? |
" . () Write the full\fortn of DTP. -
T3 Answer any two of the following quesnons
5><2 10,
(a) What is Text Wrap ?

' (b) Write a note on ‘Wlndow menu of '

~ PageMaker.- )
(c). Describe about features of the “Tools’.

'v(d) How to apply colour to text and

graphics?
(e) Write a short note on master pages.

(0 Explain the use of ‘Document Setup’.

4. Answer any three of the foilowing eluestions :
- . - | 10x3=30

(a) How do you create a ‘Character’ and
‘Paragraph’? Explain various steps with
diagram.
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(b)

(c)

@

(e)

(9)

W

Write a descnptlve note on ‘Arrange’ in
PageMaker.

Describe the step by step process of
opening a-new file in' PageMaker.

Explain (i) adding text and lines,

(ii) formattmg Text, and (iii) saving and

prlntmg a pubhcatlon

-

Define ‘Type’ menu. What features are
there in it? Brlefly explain all. .

Write short notes on Grids, Rulers and
Guides. Describe their importance.

‘Write. différent steps involved in ‘

wrapping text around a graphic.

Describe PageMaker in your own word.

" 3(Sem-3/CBCS) PHY SE/G 36 1600

@y

'

-~



